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Real Robot

# Important, each robot needs a new API connection to allow moving them separately in different threads (if required)

rdk = Robolink()
robot.link = rdk

# Force simulation mode in case we are already connected to the robot.

# Then, gather the joint position of the robots.

# This will gather the position of the simulated robot instead of the real robot.
rdk.setRunMode(RUNMODE_SIMULATE)

jnts = robot.Joints()

print("jnts == ",jnts)

# connect to the robot:

# rdk.setRunMode(RUNMODE_RUN_ROBOT) # not needed because connect will automatically do it
# state = robot.ConnectSafe()

state = robot.Connect()

print("connect == " state)

# connect to the robot:

# rdk.setRunMode(RUNMODE_RUN_ROBOT) # not needed because connect will automatically do it
# state = robot.ConnectSafe()

state = robot.Connect()

print("connect == ",state)

# Check the connection status and message
state, msg = robot.ConnectedState()
print(state)
print(msg)
if state != ROBOTCOM_READY:

errors = errors + 'Problems connecting: ' + robot.Name() + : ' + msg + '¥n'
else:

# move to the joint position in the simulator:

jnts = robot.Joints()

pose = robot.Pose()

print("jnts == ",jnts)

print(f"pose:{pose}")

connect == 1

0

Ready

jnts == [[-20.252],
[9.703 1],

[ -14.888 ],

[ -85.961 ],
[-110.046 ],

[ 105.988 ]]

Robodk(TCP)

Same

C—)

| pose:Pose(205.790, 286.574, 195.529, -179.982, 0.134, 179.933):

Real Robot(Joint)

J1: 20.252 J2:  9.703 J3: -14.888
J4: -85.961 J5:-110.046 J6: 105.988

J2/J3 FHfy 5185

Real Robot(TCP)

[[ -1.000, -0.001, 0.002, 205.790 ],
[ -0.001, 1.000, 0.000, 286.574 ],

[ -0.002, 0.000, -1.000, 195.529 ],
[ 0.000, 0.000, 0.000, 1.000 1]
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